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ÿoˆÁTˆEı YÁPˆy‘] ( B.D.P.) 
◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘Á ( Term End Examination ) :  

◊Qˆ„a∂ëˆÃ[˝, 2013 C L«X, 2014 

a]ÁL◊[˝VÓÁ ( Sociology ) 
B◊¨K˜Eı YÁPˆy‘] ( Elective ) 

ªJÙT«ˆUÔ Yy ( 4th Paper : Sociological Theory ) 
a]Ã^  f ªJÙÁÃ[˝ H∞RÙOÁ Y…SÔ]ÁX  f 100 
Time : 4 Hours Full Marks : 100 

( ]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70% ) 
( Weightage of Marks : 70% ) 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for accuracy and relevance 

in the answer. Marks will be deducted for incorrect 
spelling, untidy work and illegible handwriting. 

The weightage for each question has been 
indicated in the margin. 

1* Â^-ÂEıÁ„XÁ V«'◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX  f 20 × 2 = 40 
 (Eı) a]ÁLTˆ„√º¯ %GÁrÙ ÂEgıÁTˆ-AÃ[˝ %[˝VÁX Y^ÔÁ„_ÁªJÙXÁ 

EıÃ[˝”X* 
 (F) ]ÁEÔıa Y“Vw¯ a]ÁL a+◊EÔıTˆ W˝ÁÃ[˝SÁ C a]ÁL 

Y◊Ã[˝[˝Tˆ¤„XÃ[˝ [˝ÓÁFÓÁ =YÿöˆÁYX EıÃ[˝”X* ]ÁEÔı„aÃ[˝ 
•≥•Tˆ„√º¯Ã[˝ a›]Á[˝à˘TˆÁ %Á„_ÁªJÙXÁ EıÃ[˝”X* 15 + 5 

 (G) Âc˜Á]Á≥a Y“Vw¯ ◊[˝◊X]Ã^ Tˆ√º¯◊ªRÙO a]Á„_ÁªJÙXÁac˜ ◊[˝‰`¿bS 
EıÃ[˝”X* 

 (H) c˜O. ßaÁ_Ô ◊Eı\ˆÁ„[˝ Y“Yá˚[˝ÁV„Eı [˝ÓÁFÓÁ Eı„Ã[˝‰ªK˜X ?  

2* Â^-ÂEıÁ„XÁ ◊TˆX◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 12 × 3 = 36 
(Eı) ◊[˝[˝Tˆ¤X[˝ÁV C Y“aÁÃ[˝S[˝ÁV [˝_„Tˆ ◊Eı Â[˝Á„MıX ? 

Ã[˝ÓÁQˆ◊zıZı-[˝–Á=X-AÃ[˝ EıÁPˆÁ„]Á◊\ˆ◊w¯Eı EıÁ^Ô◊X[˝ÔÁc˜› Tˆ√º¯ 
%Á„_ÁªJÙXÁ EıÃ[˝”X* 4 + 8 

(F) %ÁÃ[˝. ÂEı. ]ÁªRÙO¤X-AÃ[˝ ◊y‘Ã^Á[˝ÁV› Tˆ√º¯◊ªRÙO a]Á„_ÁªJÙXÁ 
ac˜„^Á„G ◊[˝‰`¿bS EıÃ[˝”X* 

(G) QˆÁcÀ˜„Ã[˝XQˆÃ[˝ÀZıı-AÃ[˝ %X«aÃ[˝„S a]Á„L %X«p˚Á]…_Eı 
a]◊XüTˆ aeÿöˆÁÃ[˝ mÃ[˝”±ºˆ [˝ÓÁFÓÁ EıÃ[˝”X* 

(H) ÂEıÁaÁÃ[˝-AÃ[˝ ]Tˆ[˝ÁV %X«^ÁÃ^› a]Á„L •≥• ◊X„Ã^ AEı◊ªRÙO 
ªRÙO›EıÁ ◊_F«X* 

(I¯) Â_◊\ˆ-∫ÆœÙaÀ-AÃ[˝ %X«aÃ[˝„S X Tˆ„√º¯Ã[˝ a„Ü ◊[˝◊X]Ã^ Tˆ„√º¯Ã[˝ 
a+EÔı %Á„_ÁªJÙXÁ EıÃ[˝”X* 

(ªªJÙ˜) ◊YªRÙOÁÃ[˝ [˝¿Á= ◊Eı\ˆÁ„[˝ ◊[˝◊X]Ã^ Tˆ„√º¯ ◊XÃ^] C ]…_Ó„[˝Á„W˝Ã[˝ 
W˝ÁÃ[˝SÁ Y“„Ã^ÁG Eı„Ã[˝‰ªK˜X ? 

3* Â^-ÂEıÁ„XÁ ªJÙÁÃ[˝◊ªªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 6 × 4 = 24 
(Eı) Q«ˆFÔÁc˜O„]Ã[˝ ]„Tˆ ◊y‘Ã^Á[˝ÁV› W˝ÁÃ[˝SÁ◊ªRÙO ◊Eı ? 
(F) YÁÃ[˝aXaÀ Y“Vw¯ a]ÁL[˝Ó[˝ÿöˆÁ a+„EÔı ◊[˝‰`¿b„SÃ[˝ 

Âl˘‰y a]Á„_ÁªJÙXÁm◊_ ◊Eı ◊Eı ? 
(G) X[˝Ó]ÁEÔıa[˝ÁV›„VÃ[˝ ]ÁEÔıa›Ã^ \ˆÁ[˝XÁÃ[˝ ◊[˝Ã[˝”„à˘ 

a]Á„_ÁªJÙXÁm◊_ ◊Eı ◊Eı ? 
(H) ]XÿôˆÁ◊√º¯Eı %ÁªJÙÃ[˝S[˝Á„VÃ[˝ Y“W˝ÁX W˝ÁÃ[˝SÁ◊ªRÙO %Á„_ÁªJÙXÁ 

EıÃ[˝”X* 
(I¯) GZı]ÓÁ„XÃ[˝ XÁªRÙOÓa…y ]Tˆ[˝ÁV a+„EÔı ae„l˘„Y 

%Á„_ÁªJÙXÁ EıÃ[˝”X* 
(ªJÙ) ◊a„]_ C ]ÁEÔı„aÃ[˝ ]Tˆ[˝Á„VÃ[˝ YÁUÔEıÓ ◊XÃ[˝÷YS EıÃ[˝”X* 
(ªK˜) [˝¿Á=„Ã^Ã[˝ ]„Tˆ ◊[˝◊X]Ã^ Tˆ„√º¯Ã[˝ Y“W˝ÁX X›◊Tˆm◊_ ◊Eı     

◊Eı ? 
(L) GÁÃ[˝◊ZıX„Eı_À ◊Eı\ˆÁ„[˝ TgˆÁÃ[˝ "HªRÙOXÁ YÃ[˝+Ã[˝ÁL◊XTˆ 

◊[˝[˝Ã[˝S' [˝ÓÁFÓÁ Eı„Ã[˝‰ªK˜X ? 
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English Version 

 

1. Answer any two questions : 20 × 2 = 40 

(a) Analyse the contribution of Auguste Comte 

in Sociology. 

(b) Analyse the Marxian concept of society and 

explanation of Social Change. Discuss the 

limitations of dialectical theory of Marx.  

  15 + 5 

(c) Critically explain the exchange theory as 

depicted by Homans. 

(d) How does E. Husserl explain 

phenomenology ? 

2. Answer any three questions  : 12 × 3 = 36 

(a) What is the meaning of 'evolutionism' and 

'diffusionism' ? Discuss the structural-

functionalism as depicted by Radcliffe-

Brown. 4 + 8  

(b) Critically analyse R. K. Merton's theory of 

functionalism. 

(c) Explain, after Dahrendorf, the importance 

of I.C.A. in society. 

(d) Write a note on Coser's notion of conflict in 

society. 

(e) Discuss, after Levi-Strauss, the relation of 

Anthropology with exchange theory. 

(f) How does Peter Blau apply norm and value 

in exchange theory ? 

3. Answer any four questions  : 6 × 4 = 24 

(a) What, according to Durkheim, is the 

concept of functionalism ? 

(b) What are the criticisms against the social 

systems analysis of Parsons ? 

(c) What are the points raised by the Neo-

Marxists against Marxism ? 

(d) Discuss the prime concept of psychological 

behaviourism. 

(e) Discuss, in brief, the dramaturgical 

approach of Goffman. 

(f) What are the points of difference between 

Simmel and Marx ? 

(g) What, according to Blau, are the main 

propositions of exchange theory ? 

(h) How does Garfinkel explain his concept of 

'indexical impression' ? 

    


